Flektromess

RPG 70 Sowjetische Spezialrohren 111:9-16 1t 4105/74 1 T. (3296/9)
Réhre UF,LUh Uba Ug | 1 2 < o I SR I 718 9@ Ja %
6I5IT |63 0| 150 150| H1 A1 K |Sg H2 G K |50 100
Sollwerte: | —=Ug=1 Ja=50 S=27
6361 [630[150 150/ K G |K H1|H2 K |A1 Sg |50 100
Sollwerte: | ~-Ug=1 Ja= =20
6)KIIT |6,3 0] 150 A1 G |K H1[H1 H2
6,3 0| 150 H1 |H1T A1 | G K {H2
Sollwerte:
6H2IT [63 0| 200 200f A1 G |K H1 |H2 5 100
6,3 0| 200 H1[H2 A1 |G K KL 5 100
Sollwerte: | -Ug=1 Ja=2, =2
6119 630|200 150( K H1| K G |K Sg |H2 A1 50 100
(6AGT) Sollwerte: | -Ug=3 Jo=35 S=12
0)K4 630|200 150! K H1| K G |K Sg |H2 A1 10 100
(6ACT7) Sollwerte: | =-Ug=2 Ja=100 S5=6,5
61T (6,3 0| 150 100| G K |H1T H2 [A1 Sg | K 10 100
Sollwerte: | =Ug=1 Ja=7,5 S=4,5
6)K5IT [6,3 0200 100| G K |H1T H2 |A1 Sg |K 10 100
Sollwerte: | =Ug=1
6KOIT [6,3 0| 150 150| K G |K H1 |H2 A1 K Sg | 25 100
Sollwerte: | -Ug=1 la=20| S=16
5114C |5 0 |90~ H1 A1l A2 H2 250 50
Rohre [UgUyfUpalUs | 1|2 |3 (4 [ 5|67 |8][e®J,[%




